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class stack:
def __init_ (self):
self.item=[ ]
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class foo:
def printLine(self,line="python’):
print('line')
nl=foo
nl.printline(‘java')

java python(s

confusion={ }
confusion[1]=1
confusion[‘1’]=2
confusion[1]*=1
Sum=0
for k in confusion:
print(k)
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list=[ ]
list=[ i**2 foriin range(2,12,2)]

print (list)
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i=sum=0
while i<=4:
sum*=j
i+=1
print(sum)
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print(1,2,3,4,sep="*’)
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confusion={ }
confusion[1]=1
confusion['1']=2
confusion[1,0]=4
Sum=0
for k in confusion:

print()

traceback (s

x=True

y=False

z=False

if(x or y and z2):
print ("yes")

else:
print("no"

3 g, (0 fails to compile(z

num=7

if num>3:
print('3')
if num ==7:
print('7')
if num>7:
print('7')
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if elif(s $ g skif (@ if(o switch case(wl!
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x=4
y=2
if not 1+1==y or x==4 and 7==8:
print('yes')
elif(x>y):
print('no’)
yes no(g no(w yes(!
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import modulename(.l!

from modulename import method (o

import modulename™(z

import modulename* , from modulename import method , import modulename(s
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def test(a,b=4):
returna + b;
A(20,5)=test
print(A)
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tuples=Tuple [(list)] (- tuples=Tuplel{listl}
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